Reminders 10-20-10:
-Exam 2 Ch 4-6 Mon. Oct. 18
-Chapter 7 Quiz Next Wednesday

Objectives:

-Centripetal Acceleration
-Centripetal Force
-Examples

-Apparent Weight



* An 0.12 kg object attached to a string is
whirled in a horizontal circle whose
radius istant force. The passengerf the
object i8¢ foxsf-0f theATrEst Qbntripetal
acceleration and the centripetal force

acting on the object? What is the tension
in the string?

o Answer: 12 mfs%; 1.4 N
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* An automobile is rounding a turn of constant
radius of curvature. A passenger notices that the
arm rest is pushing toward the center of the turn
with a constant force. The passenger has a mass
of 78 kg. The force of the armrest on him is 150

N. The forward speed of the automobile is 21
m/s.

— What is the acceleration of the car?

— What is the radius of the turn?

— What is the frictional force acting on the car?
* Answer: 1.9 m/s?; 230 m
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